O/IEBWHRERIAOM®ER

SH5ETAKREBE

BT () £ HEH| 5 S B BT ()% ek 5 =z i BT (X) £ HEHR| B X it BT (X) £ e 5 = B BT (X) £ HEHR| 5B X it
ZHET 47 50 53 103 |7k S HET 214 268 247 515| BT 1 X 319 364 367 731| = HET 83 106 114 220|REH 94 125 128 253
T 24 29 27 56 iR SHT 306 391 361 752 | ET2 X 314 373 378 751 | SEBAET 62 73 86 159 | & SHET 50 65 79 144
A 38 44 47 91| L& HHET 95 133 143 276| RET3X 51 34 50 84|15 TUETRT 32 51 50 101 |75 R ET 42 58 66 124
TEHET 85 93 97 190|425k ET 23 39 34 73|db %= HHAT 662 942 968 1,910|fBIEFHT 19 28 40 68 |l S AT 13 22 25 47
FaERHET 97 104 116 220|FHHAT 32 34 49 83| FARHET 97 150 145 295 (#5 TUET 101 109 103 212| £ B EET 17 17 22 39
REHr 50 43 47 90| & SHT 53 62 68 130 | A #ABT 92 119 125 244 RATET 276 350 370 720| & HET 39 48 59 107
B FEET 303 364 382 746 |12 B ET 234 283 274 557|#H—T B 89 103 116 219|487 62 73 64 137| ZF T IRET 58 77 79 156
J\BTHET 12 13 15 28 |9y =T 102 124 127 251|#E W =T H 103 105 127 232 (e BLHT 135 138 119 257| 5 HET 35 57 60 17
P9 B BT 21 23 36 59 (7K Z BT 75 92 101 193|#E=TH 103 91 136 227 |fEALET 577 673 603 1,276|%BHET 67 80 95 175
A RET 26 30 37 67| t2ERHET 14 25 20 45|EHMT B 176 215 233 448| B THET 68 81 96 177| KB B HT 22 29 51 80
R—&HT 34 33 32 65(R)IIHRE 419 479 378 857|EWATH 81 108 11 219 FrfEA X 174 182 200 382|[@ &HET 36 46 53 99
R_EHE 94 87 89 176|428 ®E—TH 257 303 276 579| R FEX 134 108 49 157 |RIBMX 129 168 149 317| B ARHET 61 84 85 169
H=RAET 24 24 26 50|f2 2K 79 109 110 219|¥—TE 241 286 310 596 | FEAE X 165 201 215 416|lLEE—TH 64 7 86 157
BI\YERER 494 534 595 1,129(H) X 5+ 1,903| 2342| 2,188 4530(HHK=TH 239 290 286 576 |15 METR X 73 98 97 195|ILEA=TH 95 103 114 217
[iPANES =S 124 124 141 265| FHAEFET 90 128 106 234|FX=TH 223 275 283 558| = ST 195 218 223 M |ILEBB=TH 104 119 127 246
[:IAVES =S 376 444 447 891 |7 B+ ErHET 66 91 89 180(FH AT B 185 275 265 540| FEE—TH 77 95 82 177(ILBEMWTE 120 110 122 232
I\ R ERHET 236 213 216 429 /]n EHT 19 27 26 53| —TH 172 183 201 34[FEB=-TH 149 177 198 375\ILBAERTH 91 131 124 255
$rEET 519 644 659|  1,303| LAQEFET 69 74 82 156|F =T H 277 361 365 726|= B HT 116 150 123 273|ILBAATHE 115 143 136 279
FRET 22 13 16 29| Fh A EFET 74 87 83 1704t AR AT 87 100 105 205|EME—TH 105 159 164 323| EHX 5t 1,123 1,385 1,511 2,896
=odi 14 15 14 29(1BEFMX 5 318 407 386 793|dtZREE —TH 133 182 206 388|FKMDIE=TH 124 224 210 34| FREER—TH 140 161 160 321
ERAITX 22 20 24 44| /3L ET 94 104 136 240t ZEBEB =TH 188 252 308 560|KDIE=TH 119 192 179 3| FHRER_-TH 103 136 115 251
SRETHT 18 21 31 52 (¥R ZAHT 196 232 231 463|tRERX 121 174 196 370|CPERMIX 5t 2841| 3546| 3485 7031|FRERE=TH 154 159 173 332
HERT 114 116 109 225| % AT 218 240 282 522 HBIIX 5t 4087| 5090| 5330 10,420|FHHT 225 275 248 523| FRERDTH 173 196 201 397
FHAHET 523 630 618 1,248t SET Al 76 100 176 | &S BT 222 257 288 545 — O @ 58 76 82 158 FRERETHE 151 188 165 353
R 105 74 127 201 | BT 3RFE SET 18 25 16 41|RANIEX 111 137 144 281|45 FHT 95 116 124 240| FHREFERATH 171 201 228 429
A2 200 230 243 LYRIE S i) 26 41 33 74K 55 63 75 138 | AEHET 227 298 335 633| FHREFE  —TH 139 164 164 328
LRI 65 43 69 12|t EME 71 50 71 121 GEFIIEX 52 77 85 162 |3 1. ET 33 51 55 106| FREB _TH 146 176 174 350
R4 206 276 264 540| % ME#H—TH 140 165 174 339|481 37 ET 112 143 143 286|Z ALET 82 101 111 22(FHREB=TH 146 187 185 372
Pl i:b <1~ 381 453 495 948| EREHIX 5t 834 933| 1,043 1,976 | #1 FH#TET 22 31 36 67 | 1|5 BT 133 146 157 303(FHRERBET B 104 115 134 249
tHER6X 199 219 216 435| = {RET 140 156 175 331|EFHEHX 5§ 574 708 771 1,479| & R ET 56 82 89 1M|FREBRTH 132 145 142 287
AEXBE-TH 135 157 160 317| EAIRR 8 7 12 19| = K ET 537 684 662  1,346|H AT 24 39 43 82| FHREABATH 138 165 171 336
HEE2—TH 79 91 97 188| &R 12 13 17 30| = sk T T 499 588 575 1,163|#FZF—THE 95 118 115 233 FHREBLTH 172 197 233 430
E=E_TH 108 109 130 239| BHK 11 12 13 25 |{EHEET 53 80 75 155|#FF=THE 56 74 72 146 FRETE/NTE 124 134 148 282
EE=TH 109 135 147 282 (;E{LET 42 46 61 107 & sk #ET 76 87 102 189|AFF=THE 77 99 107 206| FHRERm—TH 115 138 145 283
Am—TH 119 117 125 242| £ ERET 29 33 30 63| T IRET 46 60 65 125|AFFWTE 104 125 118 243| FREFE_TH 147 170 177 347
HH=TH 139 179 204 383|/I\1ET 44 48 63 111|/\E AT 59 79 73 152|#FFRTH Al 86 89 175| FHREFHIX 5t | 2255 2632| 2715 5347
Hi5—TH 65 76 84 160| 78 I1BT 38 43 54 97(/\FRET 131 151 167 318|#FIFATH 68 68 81 149 | +a®T 116 132 142 274
EBE-TH 138 184 161 345| R HEET 30 32 40 72|—IZHT 72 80 85 165|#K—TH 97 126 132 258 |ERFAET 104 112 115 227
#E—TH 135 125 138 263| = RHTET 106 129 130 259 (& ERET 168 192 208 400|#EK=—TH 65 Al 80 151 | FaaHET 99 117 115 232
ZXEZ-TH 119 148 150 298| B4R 97 106 116 222| KEKTHX 397 490 473 963 MPHIX 5t 1,566 1,951| 2038 3989|FE#—TH 106 129 122 251
KIE—TH 163 160 200 360| = [RET 70 88 76 164(hEXRHX 222 266 224 490|185 HT 460 588 526 1,114|BwHE=TH 67 69 76 145
KRKIE=TH 98 98 94 192| SRMX 5 627 713 787 1,500 #& A& X 115 134 132 266 | F[EET 131 150 159 309|FEHM=TH 67 81 83 164
#H—TH 69 73 80 153 | = ALET 162 209 217 426 —1F#HEX 226 270 234 504 |12 FHET 348 419 401 820 (3% ;REFHT 63 74 72 146
#BH_-TH 72 67 79 146 | KK ET 79 108 113 21|lBE=TE 10 10 0 10| A BT 393 527 507| 1,034|:=REFET 99 11 107 218
B5%5=TH 23 33 32 65 (HAFIX 129 165 174 339|HEVEHE—TH 74 89 97 186 | 4BPHBX  5F 1,332| 1,684| 1,593| 3.277|FEEREHAT 80 88 101 189
BEX—TH 133 162 185 347|FHE—TH 125 81 131 212|HIVEHE_TH 132 150 177 327 BmERHE—TH 63 67 69 136
BHR=TH 30 14 25 I|HMHAR-TH 70 80 85 165|HSVIEE=TH 81 103 105 208 EERX 114 117 125 242
BEXETH 98 102 127 229 KK IR 90 123 120 243|HEVEHEMNT B 127 156 147 303 NEEHMX 5t 978| 1,097 1,127 2,224
BXATH 64 84 84 168|FFHILX 133 160 170 330|BEERTE 0 0 0 0
BXtTH 125 139 157 296 | R HHBHK 63 74 84 158 [/\AHEX 83 112 110 222 NG 29,636| 35502| 36,524| 72,026
BEXNTH 158 207 215 422| R FFEMX 52 66 57 123[MBH#IX 5t 3,108| 3,781| 3711 7,492
BEXATH 1 1 3 4R HEX 224 275 302 577
B2X+TH 25 24 17 4| =KX F 1,127 1,341| 1453 2794
#HAR—TH 29 30 30 60
HAZTH 99 146 137 283
HAR=TH 157 225 237 462
MEX  § 6,963| 7,892| 8386 16,278




O/IEBWHRERIAOM®ER

SMSETARBAE
BT () £ HEH| 5 S B BT ()% ek 5 = i BT (X) £ HEHR| B £ it BT (X) £ e 5 S B BT (X) £ HEHR| 5B ES it

EINE:k 29 33 36 69 [/ \IEET 146 176 198 3743 R ET 123 150 157 307 ;A NET H 43 45 65 110 | [ BAET 47 56 63 119
%)IIFRTR 162 199 228 427| = =8 47 66 65 131 |FE iR R ET 232 221 257 478 | RETILE 25 28 31 59 | #AA ErET 23 30 36 66
EJN L) 33 42 40 82| EILIET 206 252 278 530|&;AFHET 287 428 433 861 NET{EE 104 111 142 253|773— /LB 31 43 40 83
ZE)IIhETR 124 138 152 290| 1 B HT 48 58 64 122|B8%—TH 118 141 139 280[(AINETEYDE 54 61 66 127|;A & BT 50 67 68 135
EJNEd i) 37 39 42 81|@IE LLIET 50 70 65 135 B EFHET 42 52 62 114 NET S LA R 55 63 65 128| % R AT 4 38 34 72
EJN B 37 35 42 77— /SHX 5t 497 622 670 1,292| @8 A FET 38 65 55 120[;ATNET O E B 15 21 19 40| T EFET 42 62 65 127
EJNE ) 49 46 46 92 (#RK S HT 91 87 90 177 |F 2HET 122 191 194 385 AINET P EE 3 3 4 7| LEFET 108 142 150 292
E)IIFETR 40 43 48 91| #B SR HTHT 91 117 118 235|Fi i AT 256 346 389 735|;RI ETEL i 3 1 3 4| =IxET 28 32 34 66
Ik AHETEE 45 52 44 96| #BEABT—T B 29 34 33 67(BAXMTH 240 308 327 635 ;A NET AR 20 17 35 52| FH& 20 19 27 46
FE)IIKAETER 27 26 31 57|88RABT—TH 30 30 40 T0(BAX=TH 11 128 123 251|;RIETIR £ 8 7 9 16| LHE 23 27 27 54
EJNE i) 36 26 47 T3|ESRART=TH 44 51 70 121|505 3 HT 250 355 367 722| R NETR R 16 16 15 31| B =BT 54 57 70 127
EISHR 151 184 203 387|E5RABTM T B 202 218 248 466 |5 S HT 178 229 240 469 AT BT £/ 3 2 1 3|5l = AT 15 17 15 32
%I #=ERT G 54 47 53 100 | %&£ 57 HET 165 168 188 356|[5PNE—TH 107 185 177 362 | NET T HT 3 4 1 5| % 7R AT 44 42 37 79
EINE:ES: 73 88 94 182|#&E FIRET 98 95 113 208|I5RE_TH 87 123 129 252 (AT NETAE 15 12 16 28| #FEKET 25 21 25 46
EJNIPE g 82 85 101 186 | #B3k L HRHET 28 25 30 55| ZAEFET 114 143 157 300 NETHR 2 21 21 23 443 EHET 13 14 12 26
E)IEATR 112 121 136 257|852k T 5RHAT 27 27 35 62| ZAEFHTAT 79 86 92 178 IAMthIE &t 388 412 495 907 | L FEET 13 9 1 20
EJNEN:IFi) 32 33 42 75|88k B 36 47 46 93| &R A E BT 103 116 121 237| T&HEH 65 78 84 162 ="V 48T 2 4 1 5
EJIEIN:IES 85 79 84 163 |E& R &N=F AT 155 183 194 377| B FHET 342 426 412 838| L HE 94 85 97 182 | $UARHT 3 3 0 3
)11 F0;RETEE 203 260 280 540 | &8k BT 77 87 104 191 | FrEB A E AT 34 39 36 75| R E DER 56 70 66 136 | o] BT 6 3 5 8
EJNEakaE 243 240 282 522 [#B3RK P HET 33 31 33 64(MitIX 5t 2863 3732| 3867 7,599|tkR 22 26 29 55| E+AHET 0 0 0 0
FMX 5t 1,654 1,816 2,031 3,847 | %5k KEHAT 184 219 210 429| B [EET 189 252 278 530| XP9E 8 2 7 9| HP IR BT 1 1 0 1
REAT 346 453 450 903 |#83& K E T AT 138 215 213 428|F CIET 141 165 201 366 |#E%K 28 20 23 43| F5 AT 0 0 0 0
FHRHT 302 347 329 676 (#5RKFET—TH 14 15 19 34| KATET 80 97 87 184|HE 34 38 42 80 |#H;E AT 25 26 37 63
HEET 41 57 62 119|#8RKFET=TH 69 80 94 174 |BH:5 SHT 19 21 28 49| TKiE 16 21 28 49| 2 HKAT 38 44 51 95
RIEAT 48 78 68 146 |#83R/K FETM T B 32 33 39 72|4THT 82 119 131 250| L K& 23 21 21 2| TEAHET 63 69 83 152
FEKSEET 149 187 198 385 (#5k A AT 31 41 40 81| ch/4ERET 57 70 85 155| R iBH 10 12 12 24| EEAHET 40 46 58 104
e S HT 297 333 358 691 [ESRIIX 5t 1574 1803| 1957 3,760|R&EFHT 61 70 70 140 FE 35 31 36 67|78 1% RET 30 32 39 71
Fepiulig 75 85 88 173| A4GHT 247 296 330 626 |t [FRET 63 73 75 148| SH B 5t 391 404 445 849| =Y REFHT 53 59 81 140
Byl 260 287 329 616 |/INMINET 232 243 275 518 |4EAHT 24 29 28 57 SR LT 47 59 63 122
HEHAT 319 392 421 813|BA=TH 167 204 189 393| B M 326 368 411 779 LB B ET 2 3 3 6
e S AT 11 10 14 24| /1N ET 86 92 120 212| £ REHRHET 176 198 216 414 TATEE 20 25 22 47
ESFH 139 199 181 380| B FHT 288 354 389 743 |#BRZ S HT 199 231 241 472 Stutbts 5t 907| 1,050| 1,157 2,207
EETR 124 168 194 362|BASHETIL/E 69 94 95 189 [IRAEHTHET 160 190 201 391 =5 47 44 39 83
ESFH 126 193 183 376|BABHETE /K 26 30 35 65|/ $ERETET 13 23 18 41 i 2 0 2 2
IREIX  § 2,237| 2,789| 2875 5,664 | B3 S HET 4T 48 61 59 120| 3 01 #r AT 56 79 85 164 R 86 68 84 152
EET1R 52 60 54 114|BA SR TG/ 43 49 46 95 | 4E AR HTAT 171 226 237 463 ZE 28 12 33 45
EET2X 47 42 69 111 |F/ RETET 45 63 67 130| SEXBMIX 5 1817 2211 2392 4603 #w=-QO 14 10 9 19
EET3X 42 41 54 95(FH S & HT 89 120 118 238 ) 6 7 2 9
EETAX 58 55 64 19| EFR 8T 54 57 62 19| E8KithiE & 9,229| 11,367| 12,011 23378 Bra 0 0 0 0
EET5X 137 168 184 352| THRSHET 91 128 11 239 HMPREX 25 30 33 63
EET6RX 151 143 168 311 |ZEAHE 183 241 236 477 EOibiE 5t 208 171 202 373
EE7R 35 42 43 85|Hix S AHET 233 259 268 527 Big 240 262 279 541
EETSX 89 87 96 183| R SHT 277 312 317 629 B3 75 70 67 137
EETOX 108 101 113 PAAEI#3=1: 150 165 187 352 THE 0 0 0 0
EET10K 252 272 310 582 |74 7 S BT 46 65 67 132 Bigtthis; 5 315| 332| 346 678
EET11X 0 0 0 0| SHT 54 91 81 172

EET12K 199 285 282 567 |FEFx SET 50 75 73 148

EX 5t 1,170 1,296 1,437 2,733| X § 2478| 2999| 3,125 6,124 & 46,135| 55,139 57,523| 112,662
Z) It 5t 5061| 5901| 6,343 12,244




